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The three sources of the Indian thought in the nineteenth century may be mentioned here. The first was of
course the impact of English thought. Unlike the previous rulers the English did not settle in India. They kept
their links with home. Some of the rulers had respect for India's had respect for India's traditions. But most of
them followed Macaulay's famous minutes of 1832. and worked for the transformation of Indian society in the
image of Western Society. Bentinck, for instance thought that the primary objective of the British rule was the
mterest in Indians. viz., "improvement in their conditions”. He declared. " I write and feel as a legislator for the
Hindus. and as I believe many enlightened Hindus thing and feel so." Through the introduction of English
system of education. the British not only transmitted the culture and temper of the European Renaissance and
the Reformation and the English traditions but. more immediately . the ideas of Bentham. Mill, Carlyle and
Coleridge. the amalgam of a defence of private enterprise and collective endeavor. of democracy and rule of
law. Benthamism dominated the thought of the new Indian intelligentsia which had come into existence.

But despite all these, the system of education introduced by the British surreptitiously but surely led to a new
awareness of the value of liberty. democracy and rule of law in India. It brought into bold relief the fact that
the gulf separating the rulers and the ruled was enormous. People began to compare their plight with the
affluence in the West. They began to realise what while the British policy alternated between repression and
liberalization. it had become a prop for the continuation of despotic rule and feudal fife- styles. It made India.
in due course. feel that the British colonisation in India ought to end.

Sub questions

Question Number : 1 Question Id : 68634047694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following factor led to a new awareness of the value of Liberty and democracy in India?

1. European Renaissance

[ )

. Macaulay's minutes of 1832
3. Introduction of English system of education
4. British Colonial Policy

Options :

686340188401. 1
686340188402. 2
686340188403. 3
686340188404. 4

Question Number : 2 Question Id : 68634047695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following word is a synonym of 'Covertly'?

1. Affluence

[

. Gulf

L]

. Surreptitiously
4. Amalgam

Options :

686340188405. 1
686340188406. 2
686340188407. 3
686340188408. 4

Question Number : 3 Question Id : 68634047696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What made Indians feel that the British colonisation in Indian ought to end?

1. People realised new awareness of the value of Liberty.

| B

. People began to be influenced by western thought.
3. Benthamism dominated the thought of the new Indian mtelligentsia
4. British Policy had become a prop for the continuation of despotic rule and feudal styles
Options :
686340188409. 1
686340188410. 2

686340188411. 3
686340188412. 4

Question Number : 4 Question Id : 68634047697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Bentinck, the primary objective of the British rule was

1. improvement in the conditions of Indians.

b2

. gaining profit from the Indian markets.
3. Spreading Anglican Sensibility
4. Cultural Appropriation

Options :

686340188413. 1
686340188414. 2



686340188415. 3
686340188416. 4

Question Number : 5 Question Id : 68634047698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the meaning of the word 'viz'?
1. namely or in other words
2. terefore
3. thus
4. most important

Options :

686340188417. 1
686340188418. 2
686340188419. 3
686340188420. 4

Question Id : 68634047693 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

The three sources of the Indian thought in the nineteenth century may be mentioned here. The first was of
course the impact of English thought. Unlike the previous rulers the English did not settle in India. They kept
their links with home. Some of the rulers had respect for India's had respect for India's traditions. But most of
them followed Macaulay's famous minutes of 1832, and worked for the transformation of Indian society in the
image of Western Society. Bentinck, for instance thought that the primary objective of the British rule was the
mterest in Indians. viz., "improvement in their conditions”. He declared. " I write and feel as a legislator for the
Hindus, and as I believe many enlightened Hindus thing and feel so0." Through the introduction of English
system of education. the British not only transmitted the culture and temper of the European Renaissance and
the Reformation and the English traditions but. more immediately . the ideas of Bentham. Mill, Carlyle and
Coleridge. the amalgam of a defence of private enterprise and collective endeavor. of democracy and rule of
law. Benthamism dominated the thought of the new Indian intelligentsia which had come into existence.

But despite all these, the system of education introduced by the British surreptitiously but surely led to a new
awareness of the value of liberty. democracy and rule of law in India. It brought into bold relief the fact that
the gulf separating the rulers and the ruled was enormous. People began to compare their plight with the
atfluence in the West. They began to realise what while the British policy alternated between repression and
liberalization. it had become a prop for the continuation of despotic rule and feudal fife- styles. It made India.
in due course. feel that the British colonisation in India ought to end.

Sub questions

Question Number : 1 Question Id : 68634047694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following factor led to a new awareness of the value of Liberty and democracy in India?

1. European Renaissance

[ ]

. Macaulay's minutes of 1832

L]

. Introduction of English system of education
4. British Colonial Policy

Options :

686340188401. 1
686340188402. 2
686340188403. 3
686340188404. 4

Question Number : 2 Question Id : 68634047695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following word is a synonym of 'Covertly'?

1. Affluence

| B

. Gulf

L% ]

. Surreptitiously
4. Amalgam

Options :

686340188405. 1

686340188406. 2

686340188407. 3
686340188408. 4

Question Number : 3 Question Id : 68634047696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What made Indians feel that the British colonisation in Indian ought to end?
1. People realised new awareness of the value of Liberty.
2. People began to be influenced by western thought.
3. Benthamism dominated the thought of the new Indian mntelligentsia
4. British Policy had become a prop for the continuation of despotic rule and feudal styles
Options :

6863401884009. 1
686340188410. 2



686340188411. 3
686340188412. 4

Question Number : 4 Question Id : 68634047697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Bentinck, the primary objective of the British rule was

1. improvement in the conditions of Indians.

2

. gaining profit from the Indian markets.
3. Spreadmg Anglican Sensibility
4. Cultural Appropriation

Options :

686340188413. 1

686340188414. 2

686340188415.3
686340188416. 4

Question Number : 5 Question Id : 68634047698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What is the meaning of the word 'viz'?
1. namely or m other words
2. terefore
3. thus
4. most important
Options :
686340188417. 1
686340188418. 2

686340188419. 3
686340188420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401556
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634047699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with the suitable preposition
You have no right to trespass the law of the land.
1. on

2. across

L]

. against
4. upon

Options :

686340188421. 1
686340188422. 2
686340188423. 3
686340188424. 4

Question Number : 6 Question Id : 68634047699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with the suitable preposition

You have no right to trespass the law of the land.

1. on

| B)

. ACTOSS
3. against
4. upon

Options :

686340188421. 1
686340188422.2
686340188423. 3
686340188424. 4

Question Number : 7 Question Id : 68634047700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words given in List I with the Synonym in List IT

1ISTI LISTII
A Protract I. |Abrogate
B. |[Rescind II. [Exciting
C. |Piquant II1. |Stretch
D. |Sporadic IV. Intermittent

Choose the correct answer from the options given below:

1. A-III. B-1. C-1I. D-IV

| ]

A-ILL B-1II, C-1. D-IV
3. A-IV, B-I1, C-1, D-III
4. A-1. B-IV, C-III, D-II

Options :

686340188425. 1
686340188426. 2
686340188427. 3
686340188428. 4

Question Number : 7 Question Id : 68634047700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words given in List I with the Synonym in List IT

1ISTI LISTII
A Protract I. |Abrogate
B. |[Rescind II. [Exciting
C. |Piquant II1. |Stretch
D. |Sporadic IV. Intermittent

Choose the correct answer from the options given below:

1. A-III. B-1. C-1I. D-IV

| ]

A-ILL B-1II, C-1. D-IV
3. A-IV, B-I1, C-1, D-III
4. A-1. B-IV, C-III, D-II

Options :

686340188425. 1
686340188426. 2
686340188427. 3
686340188428. 4

Question Number : 8 Question Id : 68634047701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match the idioms in List I with the meanings in List I1

LISTI LISTII
A |Pour o1l on troubled waters] 1. |not to commit oneself
B. |[Bule the roast II. Jto find fault with
C. |51t on the fence IT1. Jto pacify the matters
D. |Pick holes IV |To dominate

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-1. D-II

| E)

. A-IL B-1. C-IV. D-III
3. A-TIV. B-1II. C-1. D-II
4, A-L. B-IL. C-IV, D-III

Options :

686340188429. 1
686340188430. 2
686340188431. 3
686340188432. 4

Question Number : 8 Question Id : 68634047701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the idioms in List I with the meanings in List I1

LISTI LISTII
A |Pour o1l on troubled waters] 1. |not to commit oneself
B. |[Bule the roast II. Jto find fault with
C. |51t on the fence IT1. Jto pacify the matters
D. |Pick holes IV |To dominate

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-1. D-II

| E)

. A-IL B-1. C-IV. D-III
3. A-TIV. B-1II. C-1. D-II
4, A-L. B-IL. C-IV, D-III

Options :

686340188429. 1
686340188430. 2
686340188431. 3
686340188432. 4



Question Number : 9 Question Id : 68634047702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List I to their Antonyms in List IT

LISTI LISTII
A |Profuse I. |Insolent
B. |Obsequious II. [Virtuous
C. |Palliate III. |Scanty
D. [Profligate IV |Reprehend

Choose the correct answer from the options given below:

1. A-IV, B-II. C-1, D-11

| )

CA-ILL B-1L C-IV, D-I1
3. A-IL B-IV. C-1. D-II
4. A-IV. B-1II. C-I, D-II

Options :

686340188433. 1
686340188434. 2
686340188435. 3
686340188436. 4

Question Number : 9 Question Id : 68634047702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List I to their Antonyms in List IT

LISTI LISTII
A |Profuse I. |Insolent
B. |Obsequious II. [Virtuous
C. |Palliate III. |Scanty
D. [Profligate IV |Reprehend

Choose the correct answer from the options given below:

1. A-IV, B-II. C-1, D-11

| )

CA-ILL B-1L C-IV, D-I1
3. A-IL B-IV. C-1. D-II
4. A-IV. B-1II. C-I, D-II

Options :

686340188433. 1
686340188434. 2
686340188435.3
686340188436. 4



Question Number : 10 Question Id : 68634047703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct alternate against the underlined phrase.

No sooner had the umpire given the batsman out than the crowd rushed into the field

—

. but the people

[

. when the crowds
3. and the crowd
4. No Improvement

Options :

686340188437. 1
686340188438. 2
686340188439. 3
686340188440. 4

Question Number : 10 Question Id : 68634047703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct alternate against the underlined phrase.

No sooner had the umpire given the batsman out than the crowd rushed into the field

—

. but the people

| B)

. when the crowds

5]

. and the crowd
4. No Improvement

Options :

686340188437. 1
686340188438. 2
686340188439. 3
686340188440. 4

Question Number : 11 Question Id : 68634047704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An article is sold for T 16500 which was bought at T 18750. Find the loss percent.

1.12%

b2

.13.6%
3. 15%
4, 20%

Options :

686340188441. 1
686340188442. 2
686340188443. 3
686340188444. 4

Question Number : 11 Question Id : 68634047704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An article is sold for T 16500 which was bought at T 18750. Find the loss percent.

1.12%

(B

.13.6%
3. 15%
4, 20%

Options :

686340188441. 1
686340188442. 2
686340188443. 3
686340188444. 4

Question Number : 12 Question Id : 68634047705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 520 m train is running at a speed of 84 kim/h. How much time will it take to cross a man walking at 6 km/h
in the same direction to that of the train?

1. 18 second

| )

. 20 second
3. 24 second
4. 28 second
Options :

686340188445. 1
686340188446. 2



686340188447. 3
686340188448. 4

Question Number : 12 Question Id : 68634047705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 520 m train is running at a speed of 84 kim/h. How much time will it take to cross a man walking at 6 km/h
in the same direction to that of the train?

1. 18 second

| )

. 20 second
3. 24 second

4, 28 second

Options :

686340188445. 1
686340188446. 2
686340188447. 3
686340188448. 4

Question Number : 13 Question Id : 68634047706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A horse is tied to a pole by a rope. If the horse move along a circular path always keeping the rope stretched

: : i i ; 22
and describes 22 m when it has traced 56° at the centre. The length of the rope 1s (Use m= =)

7

1. 223111
2

| E)

. 30m

3.28m
A acd
4, 3;»4111

Options :

686340188449. 1
686340188450. 2
686340188451. 3
686340188452. 4

Question Number : 13 Question Id : 68634047706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A horse is tied to a pole by a rope. If the horse move along a circular path always keeping the rope stretched

: : i > : 22
and describes 22 m when it has traced 56° at the centre. The length of the rope 1s (Use = —2)

7

1.22:m
2

b2

. 30m

L]

.28 m
|
4, jJEm

Options :

686340188449. 1
686340188450. 2
686340188451. 3
686340188452. 4

Question Number : 14 Question Id : 68634047707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a single throw of two dice. what 1s the probability that sum of the numbers appearing on the two dice 1s a
prime number?

7
i &=
18
o B
12
4
g o=
9
19
s
36

Options :

686340188453. 1
686340188454. 2
686340188455. 3
686340188456. 4

Question Number : 14 Question Id : 68634047707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a single throw of two dice. what is the probability that sum of the numbers appearing on the two dice 15 a
prime number?

[ ]

19
36

Options :

686340188453. 1
686340188454. 2
686340188455. 3
686340188456. 4

Question Number : 15 Question Id : 68634047708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amar spends 32% of his income on grossery and 35% of remaining on travels. He spends 25% of still
remaining on education of children. He pays Rs. 8000 per month as rent of his house. If his monthly income is
Rs. 40000, then how much he saves annually?

1. Rs. 40000

[
7

. 48950
3. Rs. 56480
4 Fs. 63120

Options :

686340188457. 1
686340188458. 2
686340188459. 3
686340188460. 4

Question Number : 15 Question Id : 68634047708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Amar spends 32% of his income on grossery and 35% of remaining on travels. He spends 25% of still
remaining on education of children. He pays Rs. 8000 per month as rent of his house. If his monthly income is
Rs. 40000, then how much he saves annually?

1. Rs. 40000

[
7

. 48950
3. Rs. 56480
4 Fs. 63120

Options :

686340188457. 1
686340188458. 2
686340188459. 3
686340188460. 4

Question Number : 16 Question Id : 68634047709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A 15 sister of D and D 15 son of B then how are A and B related:

Choose the correct option
1. A is mother of B
2. A is daughter of B
3. Ais sisterof B
4. A is aunt of B

Options :

686340188461. 1
686340188462. 2
686340188463. 3
686340188464. 4

Question Number : 16 Question Id : 68634047709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If A is sister of D and D is son of B then how are A and B related:
Choose the correct option
1. A is mother of B

2. A is daughter of B

L%]

. A 1s sister of B
4. A s aunt of B

Options :

686340188461. 1
686340188462. 2
686340188463. 3
686340188464. 4

Question Number : 17 Question Id : 68634047710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A series of letters and numbers is given which follow certain definite pattern in group. Some terms in the
series are missing. which are given in the same order as one of the options.

DF_6IK91 NP141 S 1921
Choose the correct option

1.57TM

[ ]

. INBF
3. 2ZKB7
4. 416U

Options :

686340188465. 1
686340188466. 2
686340188467. 3
686340188468. 4

Question Number : 17 Question Id : 68634047710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A series of letters and numbers is given which follow certain definite pattern in group. Some terms in the
series are missing. which are given in the same order as one of the options.

DF 6IK91 NP141 S 1921
Choose the correct option

1.57TM

[ ]

. JNEF
3. 2ZKB7
4.416U

Options :

686340188465. 1

686340188466. 2

686340188467. 3
686340188468. 4

Question Number : 18 Question Id : 68634047711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A clock is set right at 12 am. It gamns 2 minutes per hour

What is the true time when the clock shows 6 am.

Choose the correct option:

1. 5:30 am

[ ]

1
6= am
4

25
. 5= am
31

(5]

4. 6:15 am

Options :

686340188469. 1
686340188470. 2
686340188471. 3
686340188472. 4

Question Number : 18 Question Id : 68634047711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A clock is set right at 12 am. It gamns 2 minutes per hour
What is the true time when the clock shows 6 am.
Choose the correct option:

1. 5:30 am

[ ]

1
6= am
4

(5]

25
. 5—am
31

4. 6:15 am

Options :

686340188469. 1
686340188470. 2
686340188471. 3
686340188472. 4

Question Number : 19 Question Id : 68634047712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If 20 June 2023 1s Tuesday. then which day of the week was
20 June 2019
1. Tuesday
2. Monday
3. Friday
4. Thursday
Options :
686340188473. 1
686340188474. 2

686340188475. 3
686340188476. 4

Question Number : 19 Question Id : 68634047712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If 20 June 2023 1s Tuesday. then which day of the week was

20 June 2019

1. Tuesday

[ ]

. Monday

L%]

. Friday

4. Thursday
Options :
686340188473. 1
686340188474.2

686340188475. 3
686340188476. 4

Question Number : 20 Question Id : 68634047713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eight Friends are sitting around a circular table and they are facing toward the center of table
D i1s between B and E and third to the left of C.
D 1s second to the right of H.
H is between E and F.
G 1s between B and C.
Find out who is sitting an immediate right of A.

Choose the correct option.

1.F

[ B)

c
3. H
4. E

Options :

686340188477. 1
686340188478. 2
686340188479. 3
686340188480. 4

Question Number : 20 Question Id : 68634047713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Eight Friends are sitting around a circular table and they are facing toward the center of table
D is between B and E and third to the left of C.

D is second to the right of H.

H is between E and F.

G 1s between B and C.

Find out who is sitting an immediate right of A.

Choose the correct option.

1.F

b2

e
3.H
4 E

Options :

686340188477. 1
686340188478. 2
686340188479. 3
686340188480. 4

Question Number : 21 Question Id : 68634047714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
First railway line were laid down mn India under which British Governor?

1. Lord Dalhousie
2. Lord Curzon
3. Lord Wellesley
4. Lord Lytton

Options :

686340188481. 1

686340188482. 2

686340188483. 3
686340188484. 4

Question Number : 21 Question Id : 68634047714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



First railway line were laid down mn India under which British Governor?

1. Lord Dalhousie

b2

. Lord Curzon

L¥ 5]

. Lord Wellesley
4. Lord Lytton

Options :

686340188481. 1
686340188482. 2
686340188483. 3
686340188484. 4

Question Number : 22 Question Id : 68634047715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
|Article of the Constitution of India Fundamental Rights
A |Article 14 I |Right to Equality
B. |Article 22 IT. JRight of a person under detention
C. |Article 25 III. |Right to Freedom of religion
D._ |Article 32 IV |Right to constitutional Remedies

Choose the correct answer from the options given below:

1. A-II. B-1, C-III. D-IV

| ]

CA-L B-II, C-III, D-IV
3. A-IL B-1. C-IV, D-III
4. A-1. B-II. C-IV. D-III

Options :

686340188485. 1
686340188486. 2
686340188487. 3
686340188488. 4

Question Number : 22 Question Id : 68634047715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
[Article of the Constitution of India Fundamental Rights
A |Aricle 14 I. |Right to Equality
B. |Article 22 II. |Right of a person under detention
C. |Article 25 II1. |Right to Freedom of religion
D. |Article 32 IV, JRight to constitutional Remedies

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III, D-IV

[ ]

CA-TL B-II, C-III. D-IV
3. A-IL B-1. C-IV, D-III
4. A-L. B-I1, C-IV, D-III

Options :

686340188485. 1
686340188486. 2
686340188487. 3
686340188488. 4

Question Number : 23 Question Id : 68634047716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
When bullet is fired from a gun. its potential energy is converted into

1. Kinetic energy
2. Mechanical energy
3. Heat energy
4. Chemical energy

Options :

686340188489. 1

686340188490. 2

686340188491. 3
686340188492. 4

Question Number : 23 Question Id : 68634047716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When bullet is fired from a gun. its potential energy is converted into

1. Kinetic energy

[ ]

. Mechanical energy

L]

. Heat energy
4. Chemical energy

Options :

686340188489. 1
686340188490. 2
686340188491. 3
686340188492. 4

Question Number : 24 Question Id : 68634047717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements [: The union Government fixes the statutory minimum price of Sugarcane for each Sugar season.
Statements II: Sugar and Sugarcane are not essential commodities under the essential Commodities Act.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both statement I and statement II are correct
2. Both statement I and statement II are incorrect
3. Statement I 1s correct but statement I1 1s incorrect
4, Statement [ 1s incorrect but statement I is correct

Options :

686340188493. 1

686340188494. 2

686340188495. 3
686340188496. 4

Question Number : 24 Question Id : 68634047717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements I: The union Government fixes the statutory minimum price of Sugarcane for each Sugar season.
Statements II: Sugar and Sugarcane are not essential commodities under the essential Commodities Act.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both statement I and statement II are correct

[ B

. Both statement I and statement II are incorrect
3. Statement I is correct but statement II 1s incorrect

4. Statement [ 1s incorrect but statement II is correct

Options :

686340188493. 1
686340188494. 2
686340188495. 3
686340188496. 4

Question Number : 25 Question Id : 68634047718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pankaj Advani is associated with which sports?
1. Cricket
2. Boxing
3. Billiards
4, Badminton

Options :

686340188497. 1
686340188498. 2
686340188499. 3
686340188500. 4

Question Number : 25 Question Id : 68634047718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pankaj Advani is associated with which sports?

1. Cricket

b2

. Boxing

L¥ 5]

. Billiards
4. Badminton

Options :

686340188497. 1
686340188498. 2
686340188499. 3
686340188500. 4

Part B: Agro Forestry
Section Id : 686340940
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401557
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 68634047719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which statistics constants are employed to describe the characteristics of the population?

1. Mean. median, mode

[ )

. Number of observations in a sample
3. Biometry
4. Variable

Options :

686340188501. 1
686340188502. 2
686340188503. 3
686340188504. 4



Question Number : 26 Question Id : 68634047719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U AP F T&07 BT aUH P & [0 JREFD! &1 & 1H 91 RIS Tged [5a1 Sl o2
1. HTeH, HIfHD], dgaid
U T & UUAEU B HE
arfd

4. 9%

| )

L

Options :

686340188501. 1
686340188502. 2
686340188503. 3
686340188504. 4

Question Number : 27 Question Id : 68634047720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT a cause of desertification?

1. Increasing number of livestock and migrating graziers
2. Human population explosion
3. Industrial and mining activities
4. Intercropping

Options :

686340188505. 1

686340188506. 2

686340188507. 3
686340188508. 4

Question Number : 27 Question Id : 68634047720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188505. 1
686340188506. 2
686340188507. 3
686340188508. 4

Question Number : 28 Question Id : 68634047721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amount of energy reaching each trophic level depends on the net production of the producers at the base
of the food chain and the extent of energy transfer at each trophic level. This is known as-

1. Pyramid of productivity
2. Flow of energy
3. Ecological efficiency
4. Secondary Productivity
Options :
686340188509. 1
686340188510. 2

686340188511. 3
686340188512. 4

Question Number : 28 Question Id : 68634047721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188509. 1
686340188510. 2
686340188511. 3
686340188512. 4

L]
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Question Number : 29 Question Id : 68634047722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The diagnostic feature of Andisols 1s-

1. Young soil. usually wet with weak developed profiles

| )

. Immature soils with no horizon development
3. Voleanic soils with minimum profile development
4. Temperate grassland soils

Options :

686340188513. 1

686340188514. 2

686340188515. 3
686340188516. 4

Question Number : 29 Question Id : 68634047722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188513. 1
686340188514. 2
686340188515. 3
686340188516. 4

Question Number : 30 Question Id : 68634047723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion: A Relative cover of a species is the total cover of that species as a percentage of total cover of all
species present in the stand.

Reason R: Relative basal area 1s also called as relative dominance
In the light of above statements, choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and B are true but R is NOT the correct explanation of A
3. A 1s true but R 13 false
4. A is false but R 1s true
Options :
686340188517. 1
686340188518. 2

686340188519. 3
686340188520. 4

Question Number : 30 Question Id : 68634047723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188517. 1
686340188518. 2
686340188519. 3
686340188520. 4

Question Number : 31 Question Id : 68634047724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Insert stem: Alternate host of wheat rust disease is

A. Chenopodium plant
B. Berberry plant

C. Krishnanil plant

D. Parthenium grass

Choose the most appropriate answer from the options given below:
1. Aand B Only
2. C and D Only
3. B Only

4. A and D Only

Options :

686340188521. 1
686340188522 2
686340188523. 3



686340188524. 4

Question Number : 31 Question Id : 68634047724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

75 & 3% AT 1 fqepedl Ui I g 2

A FHOITSTH ST g
B. SR& &1 Ute

C. P let glen

D. Tieffas &1 gt

19 f3u e fasedl § 9 &l SUged IR &1 999 BIfe;

1. %ad A IR B
2. %ad C AR D
3. $ad B
4.%ad A AR D

Options :

686340188521. 1

686340188522. 2

686340188523. 3
686340188524. 4

Question Number : 32 Question Id : 68634047725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTIT
CO, Related change Effect
A Lowering Qf carbonate 1on I |Cord blssshmg
concentration
B. [Sea water temperature IL [ncrease_d phiytopiankton
production
C. |Dust borne iron deposition | TIT. Re.du.cnon i Gl fieatinmy in
building corals
D. [Foramimfera IV. |[White limestones

Choose the correct answer from the options given below:

1. A-I, B-IL. C-III. DIV

| B

. A-IIL B-I, C-II, D-IV
3. A-L B-IT1, C-IV. D-II
4, A-IV, B-II. C-1. DIII

Options :

686340188525. 1
686340188526. 2
686340188527. 3
686340188528. 4

Question Number : 32 Question Id : 68634047725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
I I

cozﬁ'ﬁ%uﬁﬂﬁ? E?I‘q'
A [BIEHT T DI Gigdl H gl 1 [yard (@Ra) fade
B. [JHgl 5 @1 dHH I1. [qTeY Wad| &I ggdl 3l
C. [ue 51 9g o8 7T e @1 oA &11 | UL [BRa (GaTaiui) FHE 5 dic’rod SH 61 3 ]
D. [®RIEHET V. [2d 791 TeR
FfaiRad foseal § O 9el 3T &l 944 DI

1. A-I. B-II. C-III. DIV

| B)

. A-IIL B-I, C-II, D-IV

[#5]

CA-LL B-III, C-IV, D-11
4. A-IV, B-II. C-I. DIII

Options :
686340188525. 1



686340188526. 2
686340188527. 3
686340188528. 4

Question Number : 33 Question Id : 68634047726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange these soil forming processes in a sequence of their occurrence

A. The fragments are generated due to action of atmosphere. hydrosphere and biosphere
B. Profile Development

C. Parent rocks undergoes physical weathering

D. Chemical weathering dues to oxidation, carbonation and soleuviation

E. Plant residues deposit organic matter

Choose the correct from the options given below
1.A.€.D,E B
2.D,B,A,C.E
3.B;C.EDLA

4. C.A.D.E.B

Options :

686340188529. 1
686340188530. 2
686340188531. 3
686340188532. 4

Question Number : 33 Question Id : 68634047726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3B.C.EDA

4. C.A.D.E.B
Options :
686340188529. 1
686340188530. 2

686340188531. 3
686340188532. 4

Question Number : 34 Question Id : 68634047727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the worst invasive plant in aquatic ecosystems-

1. Hydrilla

2. Eichornia crassipes

3. Fallisneria
4. Azolla

Options :

686340188533. 1
686340188534. 2
686340188535. 3
686340188536. 4

Question Number : 34 Question Id : 68634047727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fgfafEa § 9 &F 91 uey oey 9iad H U 9303 HTHTHS UIeT 82
1. FIETgar

. HEHIHal BT

. it

4. eilEl

[

L]

Options :

686340188533. 1
686340188534. 2
686340188535. 3
686340188536. 4

Question Number : 35 Question Id : 68634047728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a C4 plant-

1. Wheat- Tiiticum gestivum

| )

. Com- Zea mays
3. Soybean- Glyeine max
4. Oats- Avena sp.
Options :
686340188537. 1
686340188538. 2

686340188539. 3
686340188540. 4

Question Number : 35 Question Id : 68634047728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 5 S 39 JrdiyT ¢, TeT &-
1.71g - focion reefan
2. 5T - foran A
3. HITEH - WA J9F
4. 375 (3ffe) - Wdi=1 Frfd

Options :



686340188537. 1
686340188538. 2
686340188539. 3
686340188540. 4

Question Number : 36 Question Id : 68634047729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the primary cause of wood decay in forests

1. Insects
2. Fungi
3. Fire
4. Harsh weather conditions

Options :

686340188541. 1

686340188542. 2

686340188543. 3
686340188544. 4

Question Number : 36 Question Id : 68634047729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 H 1Y & UL BT HI HRUT I &-
1. Ple

| ]

. hddh

3.3

i A

Options :

686340188541. 1
686340188542. 2
686340188543. 3
686340188544. 4

=

Question Number : 37 Question Id : 68634047730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which pruning technique is used to remove damaged or diseased branches from fruit trees

1. Heading back

[

. Thinning out

L]

. Topping
4. Notching
Options :
686340188545. 1
686340188546. 2

686340188547. 3
686340188548. 4

Question Number : 37 Question Id : 68634047730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad I 9 o 9 e do-ie ©f baaR gl @ fads g1 I U arel Aralsl 31 e & fag
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Options :

686340188545. 1
686340188546. 2
686340188547. 3
686340188548. 4

Question Number : 38 Question Id : 68634047731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R

Assertion: A The increase in CO; concentration in the atmosphere has been largely the result of fossil fuel

buring and deforestation.
Reason R: Carbon dioxide is the most important naturally occurring greenhouse gas present in the atmosphere.

In the light of above statements, choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and B are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4, A is false but R is tiue

Options :

686340188549. 1
686340188550. 2
686340188551. 3
686340188552. 4

Question Number : 38 Question Id : 68634047731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188549. 1
686340188550. 2
686340188551. 3
686340188552. 4



Question Number : 39 Question Id : 68634047732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Ecosystem has two major components- the biotic and abiotic component

Statement IT: The amount of organic substances. present at any given time in an ecosystem, is designated as
the STANING STATE or STANDING QUALITY

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statements I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement I1 is correct

Options :

686340188553. 1
686340188554. 2
686340188555. 3
686340188556. 4

Question Number : 39 Question Id : 68634047732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- gl ey fau e §:
HYT 1 URGA U & § °UTd 5- Gilde YT 3R SGldd ged

YA I U uRda ¥ &t te g9g § Sufiyd Sfds vl &t amn ot ©fén e @s! faufa) or €fén
BICT (EST T Hel oIl ¢ |

SWRIG Y & 3Tciieh H, i fau Y fdeedl § 9 9a8 Suged IR &1 99 SIfu;
1. Y1 AR BY I A 9el §

2. BYA 1 3R HYF 11 241 7Tad ©

3. FUTI 96l 6. AfpT pU 1 TTad ©

4, FYF 1 7T0d 8. AfhT HUT 11 el ©

Options :

686340188553. 1
686340188554. 2
686340188555. 3



686340188556. 4

Question Number : 40 Question Id : 68634047733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

Water moisture content Defined as / Term

Portion of water readily absorbed
by plant roots.

Water that moves into, through
B. |Capillary water II.  Jand and out of the soil under
influence of gravity.

A |Gravitational water L

Water that fills the micropores of

C. [Hygroscopic water AL the soil

T T v W ater helcE most tightly to 50 il
particles (31 bars of suction)

Choose the correct answer from the options given below:

1. A-I. B-III, C- IV, D-II

| )

CA-IL B-IV, C-II1. D-I
3. A-IL B-III. C-IV, D-I
4. A-1. B-1I. C-III. DIV

Options :

686340188557. 1
686340188558. 2
686340188559. 3
686340188560. 4

Question Number : 40 Question Id : 68634047733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I
U
ST @I dg YT ol UIey wia! gRI

g8l i " |omar & st R e

. aE ofd ol Jal & 3G 3R a8
B. [@imoaa | IL qwaﬂﬁwnﬁlwg
. g It Sl 9ol S & &g &
c.miaagaa III.ﬁ ﬁ %

D [SUcil ol | IV. [a8 &Id ol gal & Sl § Tl 9§ oS 5idl § (9o ® 31 dR)
fafafad faeedl & O 981 IR &1 994 I ;

1. A-I. B-III. C-IV. D-II

I
EEENEIEIKIE

| )

A-IL B-IV, C-I1I1. D-1

LFN]

- A-IL B-III. C-IV. D-1
4. A-1. B-I1. C-III. DIV

Options :

686340188557. 1
686340188558. 2
686340188559. 3
686340188560. 4

Question Number : 41 Question Id : 68634047734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which fruit requires a warm and humid climate with well-drained loamy soils?

1. Black pepper

| B

. Peach

LIF¥]

. Apricot
4. Coriander

Options :

686340188561. 1
686340188562. 2
686340188563. 3
686340188564. 4

Question Number : 41 Question Id : 68634047734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafeRad @ ¥ o Bd 31 39 3R 3% saar] 3R o] Hege ard! 9 a1 &1 Sa¥adl gl §

1. prett fird

2. 315

3. gaHt

4. Y=
Options :
686340188561. 1
686340188562. 2

686340188563. 3
686340188564. 4

Question Number : 42 Question Id : 68634047735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion: Freshwater wetlands produce methane due to complete decomposition of organic matter.

Reason R: Methane concentration has more than doubled. since its concentration during the pre-industrial
times.

In the light of above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and B are true but R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

686340188565. 1
686340188566. 2
686340188567. 3
686340188568. 4

Question Number : 42 Question Id : 68634047735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & YA AU T §: TF @YU (Assertion A) F T 1 [IRGT § I GERI 39d BRI (Reason R) &
ESU gt

FUBYT A: B Tt & gul fge & SR AT IF & e He 19 31 Sarfed #d &
SRV R: G4-ee T 31 qaen § S & i gH o T 2
SRIS DY & 3HTald 1, 1< fdy 7Y f[deedi T I 99 Sugad IR 1 98- SIfoTe:

1. A SR R 3 981 € AR R. A Pl Jgl AR 8

2. A SR R HI U2 § 3R R. A P el e el &

. ATEI S AR IS R ©

4 AT RIS AFPIR TS E

Options :

686340188565. 1
686340188566. 2
686340188567. 3
686340188568. 4

Question Number : 43 Question Id : 68634047736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Desertification is the improvement of areas of deserts that have very little cultivation. so as to
make the desert soil fertile.

Statement IT: Improper land use practices, over grazing, abusive land use, factory pollution, urbanization, ete
are factors that are responsible for climate change.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct

2

. Both Statement I and Statement II are incorrect
3. Statements I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

686340188569. 1
686340188570. 2
686340188571. 3
686340188572. 4



Question Number : 43 Question Id : 68634047736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sy RRumE

HYT I TERADI Ad HH Fdlg &6 1 Tl o1 HaelH ¢ d1fcs Tyl &1 a1 Bl SUelg, S
ST e |

DY I ST Y STGIT YUY, 3ifd IR, TYUeR] YT IYGHT, SREMET TGyl eie 3fe d
PRSP © ol oiadg gRac & g STRar gl

SRIGI Y & 3HTaid 1, 1< 4y Y f[deedi T I 9 Sugad IR &1 98- BIfoie:
1. PYTI IR PYT I SHI Il &
2. HYA1 3R HYF 11 41 7Tad ©

3. YT TelI 8. fpT Sy 1 TTad ©

4. BYT17Td . AT YT I TSI &

Options :

686340188569. 1
686340188570. 2
686340188571. 3
686340188572. 4

Question Number : 44 Question Id : 68634047737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT an indicator of soil fertility and productivity

1. Soil pH
2. Soil color
3. Soil erosion
4. Crop performance

Options :

686340188573. 1

686340188574. 2

686340188575. 3
686340188576. 4

Question Number : 44 Question Id : 68634047737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad o 9 & 91 gar Saresdl 3R Jal 3a3d] &1 Y9% T8l ¢ :

1. Hal &1 pH

HET DT

[ ]

L]

&1 & UG

4. 4T T HaT-

Options :

686340188573. 1
686340188574. 2
686340188575. 3
686340188576. 4

Question Number : 45 Question Id : 68634047738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The presence of diverse and active microbial population is an indicator of

1. Soil pH

2. Soil structure

LIPS ]

. Water holding capacity
4. biological activity

Options :

686340188577. 1

686340188578. 2

686340188579. 3
686340188580. 4

Question Number : 45 Question Id : 68634047738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafde iR Tehtg Y& Sital oI S aeaT &1 Suleyfd o1 guiidl 82

. Hal T pH

AR e

—

| )

[#5]

. STe] YRUT &
4. Sifaepty Tiafafe

Options :
686340188577. 1



686340188578. 2
686340188579. 3
686340188580. 4

Question Number : 46 Question Id : 68634047739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT used to measure relative humidity

1. Paper-strip hygrometer

| )

. Thermo-hydrograph
3. Psychrometer

4, Anemometer

Options :

686340188581. 1
686340188582. 2
686340188583. 3
686340188584. 4

Question Number : 46 Question Id : 68634047739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafefad o ¥ feuet 3udnT Qrufée siedl &1 219 § g fba1 | s -
RIrs el v )
rgehiticy

4, THRR

Options :
686340188581. 1
686340188582. 2

686340188583. 3
686340188584. 4

—

| )

[#5]

Question Number : 47 Question Id : 68634047740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion: A The response of plants to elevated concentrations of CO; 1s known as carbon-dioxide

fertilization effect.

Reason R: Under elevated concentrations of atmospheric CO, plants are able to increase their rate of

photosynthesis
In the light of above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and B are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4, A is false but R is true

Options :

686340188585. 1
686340188586. 2
686340188587. 3
686340188588. 4

Question Number : 47 Question Id : 68634047740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 g1 YA [T T §: U SHUPUT (Assertion A) B TY H [ARIT § ol GIRI 3UD BRI (Reason R) &
Eqh;

SHTUBUT A: Pla4 b a¢ gU HIGUI o Wi UIgdl &1 Hidlchal &l PlaH- Sig 3 aIgs Hy=d YHa & =4
g S gl

%?WWR:HMH.'aﬁﬁamaTsﬂHcogéiﬂmﬁuﬁq 3{U-T BT LAY Dl G DI g H 9&H gld
I

SWRIG Y & 3rciieh H, i fau Y fdeedl § 9 9ad Suged IR &1 99 SIfu;
1. A 3R R I &I € 3R R, A P! Jel AT ©
2. AR R EF T8l § AR R. AP el IR Tl 6

.ATE e Al R S el ©

4 AT TR APTIR TS B

Options :
686340188585. 1
686340188586. 2



686340188587. 3
686340188588. 4

Question Number : 48 Question Id : 68634047741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [National rural Infrastructure I. [Provide free LPG connections in rural areas
Provide access to financial services, banking

B. |Swarna Jayanti Gram Swarozgar| 11
and insurance to rural households.

Enhance rural connectivity through development

C. |Ujywala Yojana 118
fund of rural Infractive projects
D. |Pradhan Mantri Jan Dhan Yojanal IV. [Promote self emplovment and wage yojana opportunities

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

[ ]

CA-ITL B-L, C-II1, D-IV
3. A-IILL B-IV. C-1. D-II
4. A-IL B-III. C-I. D-IV

Options :

686340188589. 1
686340188590. 2
686340188591. 3
686340188592. 4

Question Number : 48 Question Id : 68634047741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 I

. ITETOT &5 H g0 Tad el
A QT IO SRR | T Wmm%

- T =11 1 [ Harsif didh]
B. [wauf So=il 9/ TR | IL e e ey
: EITHIUT S{aOa T URAeHISH Bl
C. [3adl gieT 1L P B9 2T T T TR
D. [ St Ao | 1V FeRISTR 3R Jogel aiei] Haa3f ®f agH]

fafafad fawedl & O 9t IR &1 994 I :

1. A-L. B-II. C-III. D-IV

| )

cA-IL B-1. C-III. D-IV
3. A-IIL B-IV. C-1. D-II
4. A-I1, B-III, C-L, D-IV

Options :

686340188589. 1
686340188590. 2
686340188591. 3
686340188592. 4

Question Number : 49 Question Id : 68634047742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Deficiency of which nutrient causes yellowing of leaves and stunted growth?

1. Iron
2. Zinc
3. Magnesium
4, Nitrogen

Options :

686340188593. 1

686340188594. 2

686340188595. 3
686340188596. 4

Question Number : 49 Question Id : 68634047742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ Ui Tcd &1 Sl b BRI Yierd! Uiell USdl & SR |4l aifed sidl 82
1. 3T
2. foien
3. TEiRm
4. SIS

Options :

686340188593. 1
686340188594. 2
686340188595. 3
686340188596. 4

Question Number : 50 Question Id : 68634047743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Increased UV-B radiations does not influence plants and aquatic ecosystems by-

1. Lowering crop yields and poor tree growth

[

. Lowering phytoplankton productivity in polar oceans

LIF¥]

. Altering the rate of photosynthesis and damage nucleic acids in plants
4. Increasing nutrient concentration in soil

Options :

686340188597. 1
686340188598. 2
686340188599. 3
686340188600. 4

Question Number : 50 Question Id : 68634047743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdl-dl fafdull ot gfs fbdeh gR1 Ureyl 3R el gRdH! 1 wvifad =g ddl 6-

1. B BHd USER 3R SR 94 9fg gRI

2. Yd10 HENHIRI H ®H BIgciwie el $f IdEddl gRI

3. UeP TSI TRLINU &b &3 Bl YHIIdd Pep SR U1yl H Bsep 31l Bl & Ugdl B
4. 7al H Uiv® Higdl J gfs b

Options :



686340188597. 1
686340188598. 2
686340188599. 3
686340188600. 4

Question Number : 51 Question Id : 68634047744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following pests commonly affect fruit trees in orchards
1. Aphids
2. Earthworms
3. Ladybugs
4. Bees
Options :
686340188601. 1
686340188602. 2

686340188603. 3
686340188604. 4

Question Number : 51 Question Id : 68634047744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad & 9 oF ar oic garaag 9=l § Bl & sl Sl gHfdd ol o -
1' [ \.
delay
4. Al

| )

[#5]

Options :

686340188601. 1
686340188602. 2
686340188603. 3
686340188604. 4

Question Number : 52 Question Id : 68634047745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Greenhouse gases are increasing due to industrial development. exponential increase in energy
production and use

Statement IT: Increase in the concentration of greenhouse gases 1s directly dependent upon anthropogenic
activities

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statements [ is true but Statement IT is false

4. Statement I is false but Statement IT i1s true
Options :
686340188605. 1
686340188606. 2

686340188607. 3
686340188608. 4

Question Number : 52 Question Id : 68634047745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Py RuTUE:

Elgl- BRaE (1F 8139) ™ e e Sul Ide- 3k 3ugi ¥ faehies gig & PR g6
|

FYF I TRAYE (JH 8139) T &1 Figal ¥ gia AHasi-d Tararedl ® gde@: R g
QRIS BYH & H1clid 1, A< f3u MU f[deedi § I 9 Sugad IR &1 98- SIifoiu:
1. PYT 1 IR PYT IS ol g

2. YA [ 3R B 11 ST Td &

3. FYTI9el 8. AP HUT 1 Tad §

4. HYT17T0d 8. AfpT PUT I Tl &

Options :

686340188605. 1
686340188606. 2
686340188607. 3
686340188608. 4



Question Number : 53 Question Id : 68634047746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these in a appropriate sequence: Following are the events of disease cycele of Fusarium. Arrange
them in appropriate sequence.

A. Collapsed and distorted vessels in infected stem.

B. penetration through cracks formed by emerging lateral roots.
C. Ring of discolored vessels in secondary xylem.

D. Germination of different types of conidia.

E. Lower branches begin to wilt.

1.B.C,IxA E
2.C.B.E.A.D
3.D.B.CAE

4 C,A.E.D.B

Options :

686340188609. 1
686340188610. 2
686340188611. 3
686340188612. 4

Question Number : 53 Question Id : 68634047746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IBEISIEER! W (Fusarium) %W%ﬁm%ﬁﬂgﬁawﬁm@maﬁ :

A, TYTad 94 & arfea@taif (@9e) &1 e 3R fawam
B. G4 94 TSI gRI & fdal ¥ Uaw

c. fgdiae Sigey 4 fa=fug aifgersil #1 aag

D. fafi YR & SIHSarsi & yepe

E. =il =mrRaneft &1 =T (wilt)/ IR

i fau U fomedl § 9§ T8l 3R &1 99 DI |

1.B.C. D AE

2

.C.B.E.A.D
3D.BCAE
4. C,A.E.D.B

Options :

686340188609. 1

686340188610. 2
686340188611. 3



686340188612. 4

Question Number : 54 Question Id : 68634047747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Earth Observing System (EOS) Terra mission was launched by NASA in December. 1999 to

1. Monitor pollution levels in water

(B

. Quantitative estimation of water holding capacity
3. Understand the process of Global change
4. Mimimize the use of N, fertilizers

Options :

686340188613. 1

686340188614. 2

686340188615. 3
686340188616. 4

Question Number : 54 Question Id : 68634047747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
91 ERI fSHaR, 1999 Gt H&ol YUMTEl (£0s) e v © @i &1 7T ot
1. 5iel § UguUl &R &1 FTRE 8d
. STETYTRUT &7l 1 U e e 8
A% ufkad ufshan &1 993 84

4. N, IA@ & IUUNT &I IAGH = 6

| ]

L#N]

Options :

686340188613. 1
686340188614. 2
686340188615.3
686340188616. 4

Question Number : 55 Question Id : 68634047748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kalpavriksh was a program that started in 1971 to oppose the destruction of the green area in which of the
Indian cities.

1. Mumbai. Maharastra
2. Delhi

3. Trissur. Kerela

4. Bangalore. Krnataka

Options :

686340188617. 1
686340188618. 2
686340188619. 3
686340188620. 4

Question Number : 55 Question Id : 68634047748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fers YR 2ER ¥ BRa &9 & 01 e & 71U 1071 § Pedger SRisHH Ry a1 a7 o7l
1. 4%, HERTY
feet

4. GIAR, PACH

| )

[#5]

Options :

686340188617. 1
686340188618. 2
686340188619. 3
686340188620. 4

Question Number : 56 Question Id : 68634047749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequentially arrange the steps involved in primary autotrophic succession

A. Development of a base area without any life form (NUDATION)

B. Establishment of CLIMAX COMMUNITY

C. Successful establishment of a pioneer species in a base area (INVASION)

D. Individual compete with one another and affect each others life in various ways (COACTION)
E. Modification of the environment through the mfluence of living organisms on it (REACTION)

Choose the correct answer from the options given below:
1.ALD.B.C.E
2ZABDELC
3.CCALE.B.D

4. A .C.D.E.B

Options :

686340188621. 1
686340188622. 2
686340188623. 3
686340188624. 4

Question Number : 56 Question Id : 68634047749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e WUt g § |ifed =Rl &1 hHaR Hafyd &<

A, farr foodt Site & 3MUR &7 &1 faerd (Femser)

B. TRH THEM & TG

C. YR & T IR (Pioneer) TSl &1 THa RITYAT (7d9)

D. wﬁ%mu%aﬁmaww@%%%ﬁﬁwﬁﬁuﬁepar:f(mm«am)
E. Sifqd Siidi & Y19 gR1 9aia=ur & =uiawor (Ruasm)

- fau Y fawedt & ¥ Hel ST o 90 Sivie:

1A DB CEE

2.A.B.D.E,C
3.C,ALE.B.D
4 A CDE.B

Options :

686340188621. 1
686340188622. 2
686340188623. 3
686340188624. 4



Question Number : 57 Question Id : 68634047750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Fruit Climate conditions
A Mango 1. |Tropical climate and high humidity]
B. |Papava II. [Warm and humid climate
C. |Coconut ITI. |Warm and temperate climate
D. JApple IV |Tropical or sub tropical climate

Choose the correct answer from the options given below:

1. A-TV. B-I. C-II. D-ITI
2. A-L. B-II, C-IIL. D-IV
3. A-IV, B-I1, C-1. D-III
4. A-I11, B-1, C-IV. D-II

Options :

686340188625. 1

686340188626. 2

686340188627. 3
686340188628. 4

Question Number : 57 Question Id : 68634047750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
T 1 T I
)

TAaaIa® <2
A |oH 1. [Bursieadiy Saar] SR 3= 3lwdl
B. [gutar 1L [S[5 3R 3% Sidry
C. [Taa 111 |85 3R s Sear]
D. [Ud IV. [SWIG ey a1 U SieaHid Sidary
fAafaRad foweal & I Ogt SR &1 994 Difog -

1. A-IV, B-I. C-II, D-III
2. A-1. B-II. C-III. D-IV
3. A-IV. B-IIL. C-1. D-III
4. A-II1, B-1. C-IV. D-II

Options :



686340188625. 1
686340188626. 2
686340188627. 3
686340188628. 4

Question Number : 58 Question Id : 68634047751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Banana bunchy top is caused by-

A, Bacteria
B. Fungus

C. Virus

D. Nematodes
E. Protozoans

Choose the most appropriate answer from the options given below:
1. Aand B Only
2. B and C Only
3. C Only
4, D and E Only

Options :

686340188629. 1
686340188630. 2
686340188631. 3
686340188632. 4

Question Number : 58 Question Id : 68634047751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST a1 2 (S el BReR) e sRu Eldi ®
A. Sitarg]

B. Tad
c. fauy
D. HErs
E. HICTaila3f
- feu T faweal # 9 9ad S0gad S &1 99 DIt
1. Had A AR B
2. $Had B AR C
3.%ad C
4. %adD ARE
Options :
686340188629. 1
686340188630. 2

686340188631. 3
686340188632. 4

Question Number : 59 Question Id : 68634047752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 'third generation pesticides' are given for

1. Juvenile

[ ]

. Moulting

3. Bram
4. Ant juvinile

Options :

686340188633. 1
686340188634. 2
686340188635. 3
686340188636. 4

Question Number : 59 Question Id : 68634047752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188633 1

686340188634, 2

686340188635. 3
686340188636. 4
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Question Number : 60 Question Id : 68634047753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Buttressess are commonly found in

1. Temperate ever green forest

b2

. Tropical ever green forest

LFS]

. Tropical rain forest
4. Tropical thorn forest

Options :

686340188637. 1
686340188638. 2
686340188639. 3
686340188640. 4

Question Number : 60 Question Id : 68634047753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qa1 /8 AHIAa] HEl Ul §lld 6 -

1. it geTeEeR o

| ]

IUHICET IgEeR a1
Jurdhfedsdiy aui a9

[#5]

4, IUHICTHT dicd a-

Options :



686340188637. 1
686340188638. 2
686340188639. 3
686340188640. 4

Question Number : 61 Question Id : 68634047754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following relation between Arithmatic mean (AM). Geometric mean (GM) and Harmonic mean
(HM) is correct?

1.AM.>HM. >G.M.

| )

AM<HM <GM.
JAM>HM <GM.

4. AM.=HM. > G.M.

Options :

686340188641. 1
686340188642. 2
686340188643. 3
686340188644. 4

Question Number : 61 Question Id : 68634047754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tforfcr Tl (AM). SEIHIT A1 (GM) SR SId® H19 (HM) & &g Fafafead 4 3 o1 ddy Id 22

1.AM.>HM. >GM.
2. AM. <HM. <GM.
3.AM. >HM. <GM.
4. AM.=HM. >GM.

Options :

686340188641.

686340188642.

1
2
686340188643. 3
686340188644. 4

Question Number : 62 Question Id : 68634047755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the infection process in an appropriate sequence

Agrobacterium tumefaciens causing tumor disease in plants-

A. Multiplication of genome to cause infection and disease
B. Chemotactic attraction of bacteria towards host roots

C. Integration in the target host system in nucle:

D. Activation of virulence system for the transfer of T-DNA
E. Formation of smgle-stranded DNA

Choose the correct answer from the options below:

1. B.ACED

| B

By BUOC A
3.D.E.C.A.B
1. A CDEB

Options :

686340188645. 1
686340188646. 2
686340188647. 3
686340188648. 4

Question Number : 62 Question Id : 68634047755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aTeY] § 7116 IFT Idd S ale TR INgH cH %14 S HU Hichdl &l 36 H 3 aieyd o -

A. SfIF1T &1 SgTUH Y HUT 3R I I BT ©
B. TS@ S5 B 3R SIaT0] &1 SHICaed ATHHl
C. Digep! § Aied HolaM o H Thimul

D. T-DNA o RJ[aRUT & e1T araed o bl Yishgehul

E. U6hd $oiad SIE-U &I A
- fqu e faeedl H 9 91 SR o1 98- B

1.B,A,C.E.D

b2

B.ILE C A
3.3D.E.C.AB
4 A C.D.EB

Options :

686340188645. 1
686340188646. 2
686340188647. 3
686340188648. 4



Question Number : 63 Question Id : 68634047756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Climate responses are defined as-

A. Climate change as long term alteration of temperature and typical weather patterns.
B. Climate mitigation are the actions taken to reduce or prevent GHG emissions.
C. CO, is the greenhouse gas produced by landfills, and livestocks.

D. Fossil fuels are renewable energy sources that minimally contribute in GHG emission
Choose the most appropriate answer from the options given below

1. B. D Only

| ]

. C. D Only

[F¥]

. A, B, C Only
4.B.C.D Only
Options :
686340188649. 1
686340188650. 2

686340188651. 3
686340188652. 4

Question Number : 63 Question Id : 68634047756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Saar] YRRl 1 g T 5 ufeuiia far o &-

A, TIOHT SR I 119 UEid & diafafd gRady & &9 § sararg gikacd-

B. SoTaTg SN 8RR T8 19T (311,04 5i1.) & Ioi-l ] &H B T1 0%+ & 1078 &1 715 praaredi ol
C. CO, YH yHial 3R IYY- gRI Idifad 8d 78 (I 8139) T &

D. SfTaTer S TAPHRuig FHuil |id & o 8RR 8 719 (of.q=.5ff.) ScoiT # =gaH aivreH &d g

-4 fau T faeenl # 9 9ad SugSd SR &1 99 Hifort-
1.$dd B. D
2. $adC. D
3. PAU A, B.C
4, $4UB.C.D

Options :

686340188649. 1
686340188650. 2
686340188651. 3



686340188652. 4

Question Number : 64 Question Id : 68634047757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Classes of world vegetation on the basis of temperature Example
A Megatherms [ |Alpine vegetation
B. PMesotherms II. |Tropical rain forest
C. Microtherms 1T, [Coniferous forest
D. [Hekistotherms IV, [Tropical deciduous forest

(e.g.: A-II, B-III, C-IV, D-I)
Choose the correct answer from the options given below:

1. A-III, B-I, C-IV. D-II

| )

. A-IL B-L, C-IV. D-III
3. A-II, B-1, C-III, D-1
4, A-L. B-IV, C-III, D-1

Options :

686340188653. 1
686340188654. 2
686340188655. 3
686340188656. 4

Question Number : 64 Question Id : 68634047757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II1. B-1. C-IV. D-T1
2. A-IL B-1. C-IV. D-III
3. A-IL B-1. C-IIIL. D-1
4. A-1. B-IV. C-111. D-I

Options :

686340188653. 1

686340188654. 2

686340188655. 3
686340188656. 4

Question Number : 65 Question Id : 68634047758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A sample m statistical analysis 1s defined as:-

1. A number of representative individuals from the population.
2. Living organisms growing continuously in an ecosystem.
3. Aggregation of individuals in a habitat.
4. Grouping of individuals of a particular property.

Options :

686340188657. 1

686340188658. 2

686340188659. 3
686340188660. 4

Question Number : 65 Question Id : 68634047758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. fp it ufkda o wilfad Siial i afg 3t
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Options :

686340188657. 1
686340188658. 2
686340188659. 3
686340188660. 4

Question Number : 66 Question Id : 68634047759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The process of successful establishment of a species, as a result of adjustments with the conditions prevailing
there is called

1. Competion and coaction
2. Ecesis

3. Aggregration

4. Nudation

Options :

686340188661. 1
686340188662. 2
686340188663. 3
686340188664. 4

Question Number : 66 Question Id : 68634047759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faerm uRfRufal & gy gomieH & aRummeey B ueid @1 9w RI9 $1 uikbar Searnd e-
i SR Hedriar
ERINE
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Options :

686340188661. 1
686340188662. 2
686340188663. 3
686340188664. 4

Question Number : 67 Question Id : 68634047760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Why 1s canola oil preferred over oilseed rape?

1. Canola oil has better aroma than oil seed rape.

2. Canola oil has low concentration of erucic acid. which is a poisonous unpalatable compound.

LIPS ]

. Canola o1l 1s rich m saturated fatty acids.
4. Canola oil can be more easily transported as compared to oilseeds rape oil.
Options :
686340188665. 1
686340188666. 2

686340188667. 3
686340188668. 4

Question Number : 67 Question Id : 68634047760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ol $1 ga1 § ST od i i i 31 S §
1. X9 O e 1 g1 & HAren o B SR Y g g
A da H gD Si B Higdl P Bldl o ofl U [quIdig SRaay A gl
Sl O Hq9 aHg S § 9S e gl
4. FET X0 A0 BT J 5 e adt 1 P e ¥ uRae foar o1 gear |

[

L]

Options :

686340188665. 1
686340188666. 2
686340188667. 3
686340188668. 4

Question Number : 68 Question Id : 68634047761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Fiber from stem| 1. |dquilaria ogalloca
B. |Flosses 1. |Cocos nucifera
C. ICoir IT1. |Ceiba pentandra
D. |[Wood o1l IV, |Slerculia villosa

Choose the correct answer from the options given below:

1. A-IV B-II C-I D-III

| )

A-IV B-III C-1T D-I
3. A-I B-II C-III D-IV
4, A-IIT B-1I C-IV D-I

Options :

686340188669. 1
686340188670. 2
686340188671. 3
686340188672. 4

Question Number : 68 Question Id : 68634047761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
T T T I
A A TR 1 Eaggald saraar
B. [margg il Cacat i)
C. [®IsT 111 [B5a1 G=73]
D. [@1g dd V. [eRaled Gag
Fafeiad ldeedl d U Ugl SR &l 99 DIl

1. A-IV B-II C-1 D-III

|

CA-IVB-III C-II D-1
3. A-I B-II C-II D-IV
4. A-III B-1I C-IV D-I

Options :

686340188669. 1
686340188670. 2
686340188671. 3
686340188672. 4



Question Number : 69 Question Id : 68634047762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Carbon mineralization test in soil is used to test the effects of chemical on indigenous microbes

Statement IT: Oxygen consumption inhibition in activated sludge is a respiration based test for testing the
effects of chemicals.

In the light of the above statements. choose the most correet answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statements I is true but Statement 1T 1s false

4, Statement [ 1s false but Statement II is true

Options :

686340188673. 1
686340188674. 2
686340188675. 3
686340188676. 4

Question Number : 69 Question Id : 68634047762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188673. 1
686340188674. 2
686340188675. 3
686340188676. 4

Question Number : 70 Question Id : 68634047763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plants exhibit adaptive traits to cope up with fire this includes

A Enhanced seed setting and reproduction
B. Long seed viability

C. Serotiny

D. Reduced seed germination

E. Sprouting of perennial buds

choose the correct answer from the options given below:
1. A, C,E Only
2. A.B. C Only
3.C.D. E Only

4.D. E Only

Options :

686340188677. 1
686340188678. 2
686340188679. 3
686340188680. 4

Question Number : 70 Question Id : 68634047763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.$PddA. C.E
2. $ad A, B.C
3. $adC, D.E
4. PAUD.E

Options :

686340188677. 1
686340188678. 2
686340188679. 3
686340188680. 4

Question Number : 71 Question Id : 68634047764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: The increased emission of CO, and CH, from boreal and tundra soils in response to

clevated CO; and temperature will have positive feedback effects on climate change.

Reason R: Spring phenology in boreal ecosystems does not respond to climate change trends.

In the light of above statements, choose the correet answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and B are true but R 18 NOT the correct explanation of A

3. Ais true but R is false

4, A is false but R is true

Options :
686340188681. 1
686340188682. 2



686340188683. 3
686340188684. 4

Question Number : 71 Question Id : 68634047764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188681. 1
686340188682. 2
686340188683. 3
686340188684. 4

Question Number : 72 Question Id : 68634047765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the purpose of applying mulch around fruit trees.

1. Reducing weed competition.

| )

. Increasing soil fertility

Lad

. Improving drainage
4. Promoting water retention

Options :

686340188685. 1
686340188686. 2
686340188687. 3
686340188688. 4



Question Number : 72 Question Id : 68634047765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188685. 1
686340188686. 2
686340188687. 3
686340188688. 4

Question Number : 73 Question Id : 68634047766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the main benefit of pruning in machine learning?

1. It reduces overfitting in a model.
2. It improves the accuracy of the model.
3. It increases the complexity of the model.
4. It speed up the training process.

Options :

686340188689. 1

686340188690. 2

686340188691. 3
686340188692. 4

Question Number : 73 Question Id : 68634047766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o=t @t & g s e Ay d @ g
1. 78 Ufoeg & e SHrad] &1 &8 SRl 5
g% UicR=Y &1 Yiell DI JUR! 6
g UfoR=g &1 Sifeaal & ggrdi gl
T8 IRI&0T UfehaT &1 df el 5|

[

L]

=S

Options :

686340188689. 1
686340188690. 2
686340188691. 3
686340188692. 4

Question Number : 74 Question Id : 68634047767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following fruits require a tropical climate to thrive?

1. Mango

[

. Peach

LIF¥]

. Apple
4. Plum
Options :
686340188693. 1
686340188694. 2

686340188695. 3
686340188696. 4

Question Number : 74 Question Id : 68634047767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafeREad o fod od & Bar-Bad & [y Swrsieddia Siearg #1 sraadd sidl 62
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Options :
686340188693. 1
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686340188694. 2
686340188695. 3
686340188696. 4

Question Number : 75 Question Id : 68634047768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Climate zones Characteristics of plants
A |Boreal 1. |Rosette shrubs, grasses, sedges.
argely evergreen coniferous trees, lichens
E. |Polar I
form ground cover, low shrubs and grasses
Broad leaved deciduous or evergreen trees,
C. [Nemoral III.
monsoon forests
Mesophytic and deciduous forest, many
D. |Tropical IV,
perennial herbs

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV. D-IT1

| )

A-L B-II, C-III, D-IV
3. A-IV. B-1. CIII. D-II
4, A-III, B-IV. C-II, D-I

Options :

686340188697. 1
686340188698. 2
686340188699. 3
686340188700. 4

Question Number : 75 Question Id : 68634047768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-1. C-IV, D-III

| )

CA-L B-II. C-III, D-IV
3. A-IV, B-1. CIII. D-II
4. A-ITL. B-IV. C-I1, D-I

Options :

686340188697. 1
686340188698. 2
686340188699. 3
686340188700. 4

Question Number : 76 Question Id : 68634047769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the purpose of establishing wind breaks mn an orchard?

1. Reducing wind speed.
2. Providing shade.
3. Enhancing pollination
4. Preventing soil erosion

Options :

686340188701. 1

686340188702. 2

686340188703. 3
686340188704. 4

Question Number : 76 Question Id : 68634047769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188701. 1
686340188702. 2
686340188703. 3
686340188704. 4

Question Number : 77 Question Id : 68634047770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an environmental benefit of agroforestry?

1. Increased dependence on external inputs.

[

. So1l erosion

LF¥]

. Biodiversity conservation
4. monocropping

Options :

686340188705. 1

686340188706. 2

686340188707. 3
686340188708. 4

Question Number : 77 Question Id : 68634047770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340188705. 1
686340188706. 2
686340188707. 3
686340188708. 4

Question Number : 78 Question Id : 68634047771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The risk of new synthetic compounds can be assessed with the help of information on-

A. Structure of synthetic compound

B. Polarity of compound

C. Tendency of disperse in the environment
D. Persistence

E. Conversion to different forms

Choose the correct answer from the options given below

1. A. B. C Only

[ )

.C. D, E Only
3.A C.D Only
4. A.B.E Only

Options :

686340188709. 1
686340188710. 2
686340188711. 3
686340188712. 4

Question Number : 78 Question Id : 68634047771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A. P gar B SRR
B. ga1d 1 argdl gRI
C. TRl H e &t YaRi gRI

D. &Y W gRT
E. falte =ui § =giarur gR1

i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1. Pdd A, B. C
2. $ae C,D.E
3. PAUA.C.D
4. PAU A, B.E

Options :

686340188709. 1
686340188710. 2
686340188711. 3
686340188712. 4

Question Number : 79 Question Id : 68634047772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which nutrient deficiency causes necrosis or death of leaf tips and margins,

1. Zine

[ ]

. Molybdenum
3. Boron

4. Potassium

Options :

686340188713. 1
686340188714. 2
686340188715. 3
686340188716. 4

Question Number : 79 Question Id : 68634047772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340188713. 1
686340188714. 2

686340188715. 3
686340188716. 4

[ ]
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Question Number : 80 Question Id : 68634047773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the various steps of a generalized frame work for ecosystem restoration in a sequence

A Plan of action

B. Synthesis of Information

C. Review

D. Restoration objectives

E. Tools. methods and monitoring

Choose the correct answer from the options given below:
1.E B.AE.D
2D B, O AE
3B.DAEC

4 A CD.B.E

Options :

686340188717. 1
686340188718. 2
686340188719. 3
686340188720. 4

Question Number : 80 Question Id : 68634047773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.6, B, A, B; D

| o

.D,.B,C.AE
3 BLD.AE.C
4 A CD.B.E

Options :

686340188717. 1
686340188718. 2
686340188719. 3
686340188720. 4

Question Number : 81 Question Id : 68634047774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the trade-off of aggressive pruning in neutral networks?

1. Increased model complexity.
2. Longer training time.
3. Reduced interpretability of the model.
4. Potential loss of model accuracy.

Options :

686340188721. 1

686340188722.2

686340188723. 3
686340188724. 4

Question Number : 81 Question Id : 68634047774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340188721 1
686340188722. 2

686340188723. 3
686340188724. 4

Question Number : 82 Question Id : 68634047775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Highlights on global climate change based on IPCC IV Assessment Report, 2007 does not includes-

1. Concentration of atmospheric greenhouse gases.

b2

. Rise in sea level.
3. Possible implications of global climate change for India.
4. Dumping of agricultural waste in sea.

Options :

686340188725. 1

686340188726. 2

686340188727. 3
686340188728. 4

Question Number : 82 Question Id : 68634047775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188725. 1
686340188726. 2
686340188727. 3
686340188728. 4

Question Number : 83 Question Id : 68634047776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The purpose of intensive cultrvation is

A. To loosen the soil structure for better drainage
B. Faster root growth

C. Aeration

D. Incorporation of crop residue

Choose the correct answer from the options given below:

1. B and C Only
2. Cand D Only
3. A, C. and D Only
4. All of the above

Options :

686340188729. 1

686340188730. 2

686340188731. 3
686340188732. 4

Question Number : 83 Question Id : 68634047776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188729. 1
686340188730. 2
686340188731. 3
686340188732. 4

Question Number : 84 Question Id : 68634047777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ectomycorrhizal fungi are commonly found in the roots of trees belonging to family-

1. Myrtaceas
2. Dipterocarpaceae
3. Pinaceae
4. All of the above

Options :

686340188733. 1

686340188734. 2

686340188735. 3
686340188736. 4

Question Number : 84 Question Id : 68634047777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188733, 1

686340188734 2

686340188735. 3
686340188736. 4
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Question Number : 85 Question Id : 68634047778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Agroforestry can contribute to climate change mitigagtion through-

1. Increased greenhouse gas emission

b2

. Soil degradation

LFS]

. Carbon sequestration
4. Desertification

Options :

686340188737. 1

686340188738. 2

686340188739. 3
686340188740. 4

Question Number : 85 Question Id : 68634047778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PaI-S! Seary gRad & I 1 fdge gRI IS & bl o-
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EACE NG
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Options :
686340188737. 1
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686340188738. 2
686340188739. 3
686340188740. 4

Question Number : 86 Question Id : 68634047779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion: A Glaciers in mountain areas and polar ice caps are particularly sensitive to temperature shifts.

Reason R: The Earth's ice cover acts as a protective mirror. reflecting a large portion of the sun's energy that
goes back into the space.

In the light of above statements, choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and B are true but R is NOT the correct explanation of A

3. A is true but R is false

4. A is false but R is true

Options :

686340188741. 1
686340188742.2
686340188743. 3
686340188744. 4

Question Number : 86 Question Id : 68634047779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188741. 1
686340188742. 2
686340188743. 3
686340188744. 4

Question Number : 87 Question Id : 68634047780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In high rainfall parts of Latin America. farmers grow dry beans using a traditional system known as

1. Shift cultivation

[

. Terrace farming
3. Slash mulch
4. Intercropping

Options :

686340188745. 1
686340188746. 2
686340188747. 3
686340188748. 4

Question Number : 87 Question Id : 68634047780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188745. 1
686340188746. 2
686340188747. 3
686340188748. 4

Question Number : 88 Question Id : 68634047781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Flocculation is the process by which dissolved chemicals are precipitated by physical. chemical
or biological action.

Statement IT: Catching and shredding of heavy solid matter in primary waste water treatment is practiced by
comminutor.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statements I is correct but Statement IT is incorrect
4, Statement I is incorrect but Statement II is correct

Options :

686340188749. 1

686340188750. 2

686340188751. 3
686340188752 4

Question Number : 88 Question Id : 68634047781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188749. 1
686340188750. 2
686340188751. 3
686340188752. 4

Question Number : 89 Question Id : 68634047782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 'citrus type' is monoembryonic

1. Citron

2. Sour lime

L]

. Mandarin

4. Pummelo

Options :

686340188753. 1
686340188754. 2
686340188755. 3
686340188756. 4

Question Number : 89 Question Id : 68634047782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188753. 1
686340188754. 2
686340188755. 3
686340188756. 4

Question Number : 90 Question Id : 68634047783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The yellow pigment in papaya fruit is

1. Caricaxanthin

2. Carotene

LIF¥]

. Anthocyanin
4. Xanthophyll
Options :
686340188757. 1
686340188758. 2

686340188759. 3
686340188760. 4

Question Number : 90 Question Id : 68634047783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qdid & wa & die aufe gidr -
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686340188757. 1
686340188758. 2
686340188759. 3
686340188760. 4

Question Number : 91 Question Id : 68634047784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nitrogen is needed in large amount s by plants. Which of the following statement(s) is/are true for nitrogen.

A. Nitrogen occurs in every amino acid and is a major component of proteins.

B. It forms part of chlorophyll. therefore nitrogen- deficient plants show yellowing of leaves.

C. N, can be taken up directly from atmosphere by plants, therefore plants have 1-2% nitrogen as a
proportion of their dry weight.

D. Adequate supply of nitrogen in usable form 1s needed for normal flowering and fruit set in plants.

Choose the most appropriate answer from the given below:
1. A Only
2. A. B Quly
3.A.B.D Ouly

4. B, C,D Only

Options :

686340188761. 1
686340188762. 2
686340188763. 3
686340188764. 4

Question Number : 91 Question Id : 68634047784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl &1 g5 A= H A5eioq &1 ATamadl aidl ¢ | FHafaRed 8 ¥ Fw oyF T5eo & T 9a gl

A, TSI e THFT URTS § 81T & olf Wi o1 Ud WiE U o
B. U8 FARITGd &1 Udh U §-1d1 & SUIeE Age i o1 SHI ard gidl &1 gfdl die s oirdi 8
C. Oreff gRT Agg oM HTe aTaraxur § ferm o 9l 5. S9ag gl H 399 Y@ aod & S | 1-2%

BEEEENECI
D. giﬁﬁwuﬁmﬁﬁ?wwﬁéﬁﬁmWﬂm@mﬁWm% TGl Bl
1 fau U faeed! © 9 Y UGS SR 1 99 Bt
1. $ad A
2. AU A B
3. PAUA.B.D

4. PAAB.C.D

Options :

686340188761. 1
686340188762. 2
686340188763. 3
686340188764. 4

Question Number : 92 Question Id : 68634047785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sandal spike disease of Sandal (Santalum album) is caused by
1. Bacteria
2. Fungi
3.MLO
4. Virus

Options :

686340188765. 1
686340188766. 2
686340188767. 3
686340188768. 4

Question Number : 92 Question Id : 68634047785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188765. 1
686340188766. 2
686340188767. 3
686340188768. 4

Question Number : 93 Question Id : 68634047786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tangible benefit of Forestry project is

1. Income distribution

[

. Improved standard of living

Lad

. National prosperity
4. Higher yield level

Options :

686340188769. 1

686340188770. 2

686340188771. 3
686340188772. 4

Question Number : 93 Question Id : 68634047786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340188769. 1
686340188770. 2
686340188771. 3
686340188772. 4

Question Number : 94 Question Id : 68634047787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is correct about pathogen infecting host system?

A. Fusarium vascular wilt mainly cause disease in wheat plant

B. Rust is a common disease symptom in India. caused by Puccinia graminig
C. Bacteria leaf blight in rice is caused by Magnaporthe oryzae

D. Neem based pesticides are effective in the management of rice diseases

Choose the most appropriate answer from the options given below:

1. A.B. C Only

| )

.B. C Only
3. C.D Only
4. B. D Only
Options :
686340188773. 1
686340188774.2

686340188775. 3
686340188776. 4

Question Number : 94 Question Id : 68634047787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188773. 1
686340188774. 2
686340188775. 3
686340188776. 4

Question Number : 95 Question Id : 68634047788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dafferent steps of using GIS tool (Geographical Information System) are given below. Arrange them in
appropriate sequence.

A. Query and Analysis
B. Data manipulation
C. Visualization

D. Data input

E. Management

Choose the correct answer from the options given below:

1. DB EoA G

| )

.C.B.D.A.E

LFN]

AC.D.E.B
4. C,AB.ED

Options :

686340188777. 1
686340188778. 2
686340188779. 3
686340188780. 4

Question Number : 95 Question Id : 68634047788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it 3. U 3IUE0] (LTI T 9uTelh) &1 Iuai & & i o AR fGu i . 38 sasa 8
HgeUd S

A, Uy 3R faweyor

B. &Sl (3¢ H 2R-B¥/ 9519 (ST H-gaRr)
C. UI&DHIU (fagaargoier)

D. i3 &1 (Af4F 31 (521 3790)

E. H&=F (H-oH0)

A fau 7Y fawedt # 9 Tel 3R &1 90 Sifig:

1.D.B,E. A, C

[

.C,B,D,AE
33JAL.CD.E.B
4. C,A.B.E. D
Options :
686340188777. 1
686340188778. 2

686340188779. 3
686340188780. 4

Question Number : 96 Question Id : 68634047789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Monoculture refers to-

1. Growmg diversity of crops and raising livestock

b2

. Growing only one crop at a time in a field.
3. Growing many crops together at a time and harvesting them once
4. Growing crops without use of any fertilizer

Options :

686340188781. 1
686340188782. 2
686340188783. 3
686340188784. 4

Question Number : 96 Question Id : 68634047789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188781. 1
686340188782. 2
686340188783. 3
686340188784. 4

Question Number : 97 Question Id : 68634047790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nearly 47% of the world forests occur in

1. Temperate zone

2

. Tropical zone

[F5]

. Subtropical zone

4, Boreal zone
Options :
686340188785. 1
686340188786. 2

686340188787. 3
686340188788. 4

Question Number : 97 Question Id : 68634047790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&% & TRTHT 47% & UTU W14 &-
1. ity & |
. SurhicsHig & 1
 SurwrBfeady & |
4. SIRTa g3 H

Options :
686340188785. 1

| )

L



686340188786. 2
686340188787. 3
686340188788. 4

Question Number : 98 Question Id : 68634047791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Various climatic requirements of different fruit plants are-

A. Cool climate and well drained soil, preferably acidic for plum cultivation
B. Warm humid climate with well drained soil for black pepper

C. Moderate climate with cool winters and warm summers for tea cultivation
D. Moderate climate. high humidity and cool winters for sugarcane cultivation

Choose the most appropriate answer from the options given below:
1. C.D Only
2. A B, C Only
3.B.C.D Only

4. A.C, D Only

Options :

686340188789. 1
686340188790. 2
686340188791. 3
686340188792. 4

Question Number : 98 Question Id : 68634047791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafirst il & el @1 fafay Siedryg sawada @ -

A TS @R 1 Wl & (70 351 Faar], Wil U J 3 3R w1 oid Haril ardl [Hg]
B. ®Ta o & forg ardt wiat et areft frgt & iy it sk Sierarg

C. 91 B el & foru ds1 wal SR 71 il & A1y qeny Siaary

D. T3 & Wil & forg Iy Seiary, 3= Sigdl 3iR o afdat

1= f3u Tt fasedl § 9 Tad SUgad 3Tk &1 999 Bifeiy
1. ®dd C. D
2. PAUA.B.C
3.$ddB.C.D
4.®ad A.C.D

Options :



686340188789. 1
686340188790. 2
686340188791. 3
686340188792. 4

Question Number : 99 Question Id : 68634047792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Use of trees and other woody perennials in association with agricultural crops. pastures or livestock on the
same unit of land 1s called

1. Social forestry

2. Agroforestry

3. Forest plantations

4. Joint forest management

Options :

686340188793. 1
686340188794. 2
686340188795. 3
686340188796. 4

Question Number : 99 Question Id : 68634047792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188793. 1
686340188794. 2
686340188795. 3
686340188796. 4

Question Number : 100 Question Id : 68634047793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 15 Geographical Information System (GIS)?

1. A system that collect plant specimens know different geographical locations.

[ ]

. A computer based system for the capture. storage. retrieval. analysis and display of a large amount of
spatial data.

3. A computer based application to collect weather data ONLY

4. An information system which publishes latest research papers on Geographical allied area
Options :
686340188797. 1
686340188798. 2

686340188799. 3
686340188800. 4

Question Number : 100 Question Id : 68634047793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340188797. 1
686340188798. 2
686340188799. 3
686340188800. 4



